










Part 5 - Proposed clearing 

5.1 Maps and/or spatial data 

Select which map 
type( s) you will attach 
with your form. 

Note: We will decline / 
return forms (as 
applicable) if you do 
not provide sufficient 
information for this 
question. 

5.2 Size 

IZI An ESRI shapefile with the following properties (preferred) 

• Geometry type: polygon shape

• Coordinate system: Geocentric Datum of Australia (GDA) 2020
(geographic latitude / longitude)

• Datum: GDA 2020

IZI An aerial photograph or map with a north arrow, clearly marking the 
proposed clearing area 

Note: 

• An ESRI shapefile must use one of the following filename
extensions: .shp, .shx, .dbf, and/or .prj

• You must provide an ESRI shapefile if the form requires an
assessment under an Environment Protection and Biodiversity
Conservation Act 1999 (Cth) (EPBC Act) accredited process. See
Part 8 of this form for more information.

• If you propose to clear a patch(s) of vegetation, enter a hectare value for the total size of
the area (mark number of trees as zero).

• If you propose to remove only individual trees from the area(s) (i.e. the shrubs, grasses,
groundcover plants will remain intact), provide the number of trees (and mark total area
as estimated hectares).
Note: If any shrubs, grasses, and/or groundcover plants MAY be damaged in the clearing
process, add this to the total area.

• If you propose to clear an area of vegetation within a larger footprint, enter the hectare
value for the total size of the area to be cleared (mark number of trees as zero) and the
size of the footprint. For example, 5 hectares of clearing within a 10 hectare footprint.
This option is only available for purpose permit applications.

• Enter values for BOTH number of trees and the size of the area if you are clearing
individual trees in one area AND a patch of vegetation in a different area.

• Please note the following area conversions/calculations:

1 hectare = 10,000 m2 Area of circle = 3.14 x radius2 

1 acre = 0.4 hectares / 4,000 m2 Area of a rectangle = length x width 
1 tree = 0.01 hectares I 100 m2 Area of a triangle = ½ length x perpendicular height 

Total area of clearing proposed (hectares) 

Footprint of clearing (hectares) (purpose permit only) 

Number of individual trees to be removed 11 

Note: Calculate the area of a tree based on the area encompassed by the tree's drip line; that 

being the outermost circumference of the tree's canopy. 
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